Algebraic

Limits

a? —b*> = (a—b)(a+Db)
a® — b3 = (a — b)(a® + ab + b?)
—b+vb% —4dac

Quadratic Formula:
2a

Geometric

Area of Circle: 772

Circumference of Circle: 27r

Circle with center (h, k) and radius r:
(x —h)*+ (y — k)? =12
Distance from (z1,y1) to (z2,y2):
V(@1 — 22)2 + (y1 — y2)?

Area of Triangle: %bh

opposite leg

sinf =
hypotenuse
adjacent leg
cosf = ———=
hypotenuse
opposite le
tan g — JPPOSILE €8

adjacent leg

If AABC is similar to ADEF then
AB BC AC
DE EF DF
Volume of Sphere: %7‘(7"3
Surface Area of Sphere: 4mr?
Volume of Cylinder/Prism: (height)(area of base)

Volume of Cone/Pyramid: ; (height)(area of base)

lim f(z) exists if and only if lim f(x) = lim f(x)
z—a z—a~ z—at
. sinf
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lim —— =
6—0 0

Derivatives
_fle+h)— fz)

!/ —
i) = lim h
(cotz) = —csc?x
(cscx) = —cscx - cotx

Trigonometric

Theorems

(IVT) If f is continuous on [a, b], f(a) # f(b), and N is
between f(a) and f(b) then there exists ¢ € (a,b) that

satisfies f(c) = N.

sin? @ + cos? 6 = 1

sin(26) = 2sinf cos

cos(26) = cos? 6 — sin? 0
=1-2sin’0
=2cos?f0 — 1

Table of Trig Values
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sin(z) [0] 1/2 | v2/2|[V3/2] 1
cos(z) || 1 [v3/2 | Vv2/2| 1/2 0
tan(z) || 0| v3/3| 1 V3 | DNE




